XBEARE

LR HE | BEAr | BEE &% BE

AEER BRAERIEYRLEBERETHT
1=
a BEA®KRA1E) 1= A=D+®
a-1 BEEFHEE (BE SRR S ©)
a-2 ERE (BESARES HES 0 (B=2+3+@®
a-2-1 EfEYRE 11X 0 |@=D x 3%
a—2-2 XHEEEE 1= 0 |B=(D+®2) x 23%
a—2-3 — R EEE 1= 0 |@=(D+2+®) x 13%
b EHA SR (F1E) 1 B=®+10
b-1 BiEFHKE (Y SRR ®
b-2 FEIRE (EH AR S 0 |(0=-D+®+®
b-2-1 BEEYAE 1= 0 |D=® x 12%
b-2-2 £ EEE 1= 0 |®=(®+@) % 36%
b-2-3 — iR EIEE 1= 0 |@=(®+@+®) % 13%
et 0 |(D=A+B
HER 0 |@=0D) x 10%
At 0 |@+@@
(FHXRETEO

E2E SIOY- RV R AP =K -] +128 = 0 M




EEFBEEARE

2230 ¥E | B4 B {f Eok ]
AEER BRABSRIEDRLEEERE
a-1 BEEHHE (BE RERR)
=E #248 (4-6EET) 6|mE 0
X 5|8 0
TR 1|1& 0
BE Y% 118 0
e RETER 2(& 0
=EERITUY 1|1& 0
EE fEREHER 5|& 0
BHNERER 51A%E 1| @A 0
NGt 0
x12H 0
b-1 EiEFHE (FEH RIRRSF)
&= RIEEERE 6|mE 0
SERERE =EET—TIL 1| ZR# 0
{EE4—7 )L (W800K i) 31| %R 0
HEithigin 4|45 0
EER ;M A (500kVALLT) 5|1& 0
RimERTaR B2 MR 1& 0
BT BR 2R FE 1|48 0
BE % 2|& 0
R ER 1|1& 0
SEARHFFR AEESPEEAR 1|1& 0
SEEMEEHEAR RS (LBS) 3B 0
ESEAVET IR 9& 0
WERERE =EERIVTUY 1|1& 0
WERERE BT IR 1|15 0
REMESR BESAVT LN 2|& 0
REMES BRIERERTESR 2(& 0
INET 0
x 1[H] 0




